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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 33

2. 833

3. 202

4. 405

5. 4

6. 293

7. 474

8. 472

9. 19

10. 326

11. 511

12. 892

13. 919

14. 736

15. 288

16. 242

17. 657

18. 378

19. 997

20. 304

Find the value of the variable.

1) 516 - B = 483 B = 33

2) C = 122 + 711 C = 833

3) E = 245 - 43 E = 202

4) 179 = 584 - F F = 405

5) 998 - 994 = G G = 4

6) 753 = 460 + H H = 293

7) 532 = J + 58 J = 474

8) K - 414 = 58 K = 472

9) L + 943 = 962 L = 19

10) M = 719 - 393 M = 326

11) 29 + N = 540 N = 511

12) P = 883 + 9 P = 892

13) Q - 857 = 62 Q = 919

14) 685 + 51 = R R = 736

15) 832 - 544 = S S = 288

16) 901 = 659 + T T = 242

17) 975 = U + 318 U = 657

18) 185 = V - 193 V = 378

19) 836 + 161 = W W = 997

20) 585 + Y = 889 Y = 304
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Find the value of the variable.

326 4 472 474

202 833 19 511

33 405 293 892

1) 516 - B = 483 B = 33

2) C = 122 + 711 C = 833

3) E = 245 - 43 E = 202

4) 179 = 584 - F F = 405

5) 998 - 994 = G G = 4

6) 753 = 460 + H H = 293

7) 532 = J + 58 J = 474

8) K - 414 = 58 K = 472

9) L + 943 = 962 L = 19

10) M = 719 - 393 M = 326

11) 29 + N = 540 N = 511

12) P = 883 + 9 P = 892

Answers

1. 33
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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